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Mark Scheme

M1 multiplying numerator and denominator by V8 oe

B1 for correct expansion 25 - 543 +543 — /3 /3 with1*
three terms reducing to 25 without any errors seen
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M1 for sight of multiplying top and bottom by 2 or \/3?76
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(0e eg reduces V2 + V8 to %)
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\/E is irrational
Al for 9 cao
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B11.50e
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M1 (\/gz) 4%x2 or J2x+2x+2 or (23)"
Al for 1612 (accept m=16)
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M1 ixﬁ or 1 x8‘/§ or 1 xﬁ oe
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Al for g (accept p = 32)
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Al cao
3+15+2V(3 x 15)
18+24/45
18+6+5
18 +65
M1 for (v/3)? +(v15)?+~/3 x /15 + /15 x+/3
Al 18+2145
B1 for 18 + 615

(3 + \5)* =9+5+65
=14 + 675
(V3+V15)% — (3+5)?
=18+6V5-(14+6V5) = 4
2
M1 for correct expansion of (3+ /5)?to 3% + (/5 )>+ 3.5+

3J5

Al cao

23841042
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M1 for multiplying by ﬁ or V2x9 +4/2x50
V2 V2
Alforp=3andq=50r3+5+2
(SC:Blforp=3orq=5)
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